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## cl ear menory

re(list =1s())
i e e e
## 12.1 ANOVA
i e e e

## | oad data

Data = read.table("http://edu. sabl ab. net/data/txt/sal aries.txt", header =T,
sep="\t")

str(Data)

Dat a

## build the ANOVA nodel
res = aov(Sal ary. week ~ COccupation + Gender + COccupati on*Gender, Data)

## show t he ANOVA table
sunmary(res)

Data = read.table("http://edu. sabl ab. net/data/txt/cells.txt", header =T, sep="\t")
Dat a

## cal cul ate Li nMbde

x = Dat a$Tenperature

y = Data$Cel | . Nunber

res = I n(y~x)

## anot her way:

res = I n(Cell.Nunber~Tenper at ur e, dat a=Dat a)

## see the results
res
sunmary(res)

# draw t he data
x11()

pl ot (x,y)

# draw the regression and its confidence (95%

lines(x, predict(res,int "confidence")[, 1], col =4, | wd=2)
lines(x, predict(res,int "confidence")[, 2], col =4)
lines(x, predict(res,int "confidence")[, 3], col =4)

# draw the prediction for the val ues (95%
lines(x, predict(res,int "pred")[, 2], col =2)
lines(x, predict(res,int "pred")[, 3], col =2)

## 12.3a. Linear Regression

Data = read.table("http://edu. sabl ab. net/data/txt/| eukenm a.txt",
header =T, sep="\t", quote="\"")
str(Data)
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x11()
pl ot (densi t y( Dat a$VWBC) )

## | og WBC and tinme
Dat a$WBC = | 0g10( Dat a$WBC)

x11()
pl ot (densi t y( Dat a$VBC) )

## separate to two datasets

dat al =Dat a[ Dat a3AC == "Positive",]
dat a2 =Dat a[ Dat a3AC == "Negative", ]
HH- - - - -

## QL. Build scatter plot.

## build scatter plots

x11()

par (nfcol =c(1, 2))

pl ot (dat a1$WBC, dat al$Sur vi val , pch=19, col =3)
pl ot (dat a2$WBC, dat a2$Sur vi val , pch=19, col =4)

## 2. Linear nodel. Estinations.

## build linear nodels

Iml = I n(Survival ~ WBC, datal)
Im2 = I n(Survival ~ WBC, data2)
sunmar y (| ml)

sunmmar y( | nR)

## estimate survial for patient with WBC = 20000

wbc = [ 0g2(20000)
survl = | mi$coefficients[1] +l mi$coefficients[2]*wbc

## build scatter plots

x11()

pl ot (dat a1$WBC, dat al$Survi val , pch=19, col =3, nai n="Survi val ")

l'i nes(dat al$WBC, predict(lmL,int "confidence")[, 1], col =4, | wd=2)
l'i nes(dat al$WBC, predict(lmL,int "confidence")[, 2], col =4)

li nes(dat al$WBC, predict (Il mL,int "confidence")[, 3], col =4)

poi nt s(wbc, survl, col =2, pch=19)

| i nes(dat al$WBC, predict (I nt,int
l'i nes(dat al$WBC, predict (I nt,int

"pred")[, 2], col =2)
"pred")[, 3], col =2)

sunmmar y( Dat a)

WBC. f act or = character(ncol (Data))
WBC. f act or [ Dat a$WBC <= nedi an(Dat a$WBC)] = "Low!
WBC. f act or [ Dat a$WBC > nedi an(Dat a$WBC)] = "Hi gh"
WBC. fact or = as. factor(WBC. factor)

Dat al = cbi nd(Dat a, VBC. f act or)
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nmodel = aov(Survival ~ WBC. factor + AC + WBC.factor*AC, Datal)
summar y( model )



